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FE 1 (KEAREEE) REEHa,b,c BEARTRC +b* =", B(a,b)=1, N
BE—H—EBHEERu,v,u>v>0,(u,v)=1, FBc=u>+v, a= u® —v?, b =2uv

sk a=2uv,b=u’—v, HHEELREHN (a,b,c) HEABEARBZE.

BN (p HRME) 8 p HER, BE 0 p HERE (2Hv,(1) EXIT &

n+0, ﬂljvp(n)zmax{kZO,pk|n}; E#n=0, )I'IJva(O):ooo

EE 2 (FiLEARX) ‘Rn ALEE, p AFE S,(n) AntE p #H TEUEFZH,

_ n—=S,(n)
p-1

il vp<n!>=2[4J

i>1

EIE 3. (RBFR) EHa, b EENRDPVERMHE, FEBH Yy, FFax+by=1.

BWANab, ERx,y TR ROKILESEZERRIANSGH.

EIE 4. (FEEIRF (lifting-the-exponent, &FRLTE) 5[38) & x,y HEE, n HIEEE,
pREHE ptx,y, WTFIamBAML:

(1) p#28, Eplx—y, Wv,X"=y")=v,(x=y)+v,(n); H2{nBp|x+y,

Wy, (x"+y")=v (x+y)+v,(n) .

(2) p=2H, 21x,yeEsEHE2|x—y, &2|n, N

V(" =y =v(x =)+, + ) Hvnm -1 BE2{n, WvG"-y")=v,(x-y). #
i Halx-y, Wn(x+y)=1, Bvn("-)y")=v,(x-y)+v,(n),

(3) XFrEZR#Kp, H(n,p)=1, Bplx—y, Wy,(x"-y")=v,(x-y); &

(mp)=Lplx+ty, B2{n, Wy, (x"+y")=v,(x+y).,
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—. BlBsE
1. FE¥#a,b,cHRc =a’+b +ab, RiF: ¢cH—PKAF5HERF.

Bl 2. BEBEH a,bcHERARC =a’ +b>+ab, B(a,b)=1, Kif: HFHEEEK
x v, (xxy)=1,x>y, ﬁf%'cc:x2+y2+xy, a=2xy+y2,b=x2—yzﬁii

a:)cz—yz,b:2xy+yzo

3. &% f(n)y=1+n+n"+..+n"" Kif: SWEBEEHm, #2<m<2010, NFR7EF

EEEn, EEm|f(n).

B4 KIE: MEBRRENLEREm, EFELSSIEREn, #5{2"+3" -},
AEH.

%5 Wm,n HEEH, m>1, KiE: al|(m" -1)(m" —m)..(m"—m""),

6 RIEBENn=4, a,a,,...a,7n NREENTF 2n (IEEE, KIE: TN

a,ay,....a, PEUHE TN, ERENFE 2n B9EE.

B 7. BEEGEERa,b,c, FEAR+bx+c=0Ff(a+Dx*+(b+Dx+(c+1)=0%p
BEANEHIR?

B8 @n HEBEHK, KiE: 27 +2° +1E0Hn AREHERF.
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9. "n HIEBE, prEH BEHabcHRa"+pb=b"+pc=c"+pa, KiE:

a=b=c,

B110. ®n AEFH, KIE: FE-NTHFIRTHESMNENEESTHNEERm, F15

nlm,

5 11. REE# a,b,m,nHE (a,b)=1,a>1, Ba" +b" |a"+b", KiFE: m|n,

Bl12. ®a,b,ceZ, a,bFEAF, WiEax+by =c EBEMNRDDLEEMZ

(a,b)|c. HRILEFMHE, Rx=x,y=y, BTE—HE WEHNEHELEA

t, B aEREL.

b a
X=Xt ———l, Y=Y~

(a,b) (a,b)

B113. BIRESEHKL2,...,33, SRAFHTTANEE MRRLERFENHEE x|V

By, WEMMBELAE SE8Y, ERRECRFEXMOBIEL B REL
EOFTEOE0

514, Wa RSB EEE, a>1, A =l+a+..+a",n=1, KEBEKREIN{4,},. FE—

TSP IE 4L

B 15. 'wn=561=3-11-17 &%, KiE: WERHE (a,n)=1098%a, #E

a"" =1(mod n),
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